

STLC type derivation tree (1)

$$\frac{\frac{}{[a_2 \mapsto T_1] \vdash a_2 : T_1} \text{T-VAR}}{\square \vdash (\lambda a_0. a_0) : (T_1 \Rightarrow T_1)} \text{T-ABS}}$$

STLC type derivation tree (2)

$$\frac{\frac{\frac{}{[a_2 \mapsto (T_1 \Rightarrow T_1)] \vdash a_2 : (T_1 \Rightarrow T_1)}{\text{T-VAR}}}{\frac{}{[a_3 \mapsto T_1] \vdash a_3 : T_1} \text{T-VAR}}{\frac{}{[a_2 \mapsto (T_1 \Rightarrow T_1)] \vdash a_2 : (T_1 \Rightarrow T_1)} \text{T-ABS} \quad \frac{}{[a_3 \mapsto T_1] \vdash a_3 : T_1} \text{T-ABS}}{\frac{}{[] \vdash (\lambda a_0.a_0) : ((T_1 \Rightarrow T_1) \Rightarrow (T_1 \Rightarrow T_1))} \text{T-APP} \quad \frac{}{[] \vdash (\lambda a_0.a_0) : (T_1 \Rightarrow T_1)} \text{T-APP}}{\frac{}{[] \vdash ((\lambda a_0.a_0) (\lambda a_0.a_0)) : (T_1 \Rightarrow T_1)} \text{T-APP}}$$

STLC type derivation tree (3)

$$\begin{array}{c}
 \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash a_0 : (T_3 \Rightarrow T_4)} \text{T-VAR} \quad \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash a_0 : (T_3 \Rightarrow T_4)} \text{T-VAR} \quad \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash a_0 : T_3} \text{T-VAR} \\
 \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash a_1 : (T_4 \Rightarrow T_5)} \text{T-VAR} \quad \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash a_2 : (T_4 \Rightarrow T_5)} \text{T-VAR} \quad \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash (a_0 \ a_2) : T_4} \text{T-APP} \\
 \frac{}{[a_0 \mapsto T_3 \ a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash (a_1 \ a_2) : T_5} \text{T-APP} \\
 \frac{}{[a_1 \mapsto (T_4 \Rightarrow T_5) \ a_2 \mapsto (T_3 \Rightarrow T_4)] \vdash (\lambda a_2. (a_1 \ a_2)) : (T_3 \Rightarrow T_5)} \text{T-ABS} \\
 \frac{}{[a_0 \mapsto (T_3 \Rightarrow T_4)] \vdash (\lambda a_1. (\lambda a_2. (a_1 \ a_2))) : ((T_4 \Rightarrow T_5) \Rightarrow (T_3 \Rightarrow T_5))} \text{T-ABS} \\
 \frac{}{\vdash (\lambda a_0. (\lambda a_1. (\lambda a_2. (a_1 \ a_2)))) : ((T_3 \Rightarrow T_4) \Rightarrow ((T_4 \Rightarrow T_5) \Rightarrow (T_3 \Rightarrow T_5)))} \text{T-ABS}
 \end{array}$$

STLC type derivation tree debugging (1)

$$\frac{\frac{\overline{[a_3 \mapsto (T_1 \Rightarrow T_2)] \vdash a_3 : (T_1 \Rightarrow T_2)}}{\overline{[a_3 \mapsto (T_1 \Rightarrow T_2)] \vdash a_3 : (T_1 \Rightarrow T_2)}} \text{T-VAR} \quad \frac{\overline{[a_3 \mapsto (T_1 \Rightarrow T_2)] \vdash a_3 : (T_1 \Rightarrow T_2)}}{\overline{[a_3 \mapsto (T_1 \Rightarrow T_2)] \vdash (a_3 a_3) : T_2}} \text{T-VAR} \quad (T_1 \Rightarrow T_2) \neq T_1}{\overline{[] \vdash (\lambda a_0. (a_0 a_0)) : ((T_1 \Rightarrow T_2) \Rightarrow T_2)}} \text{T-APP}}{\overline{[] \vdash (\lambda a_0. (a_0 a_0)) : ((T_1 \Rightarrow T_2) \Rightarrow T_2)}} \text{T-ABS}$$

STLC type derivation tree debugging (2)

$$\frac{\text{unbound variable } a_1}{[a_4 \mapsto T_2] \vdash a_1 : T_3} \text{ T-VAR}$$
$$\frac{[a_4 \mapsto T_2] \vdash a_1 : T_3}{[] \vdash (\lambda a_0. a_1) : (T_2 \Rightarrow T_3)} \text{ T-ABS}$$

STLC type derivation tree debugging (3)

$$\frac{\text{no case for } [a_4 \mapsto T_1] \vdash (a_4 a_4 a_4) : T_2}{\boxed{\ } \vdash (\lambda a_0. (a_0 a_0 a_0)) : (T_1 \Rightarrow T_2)} \text{ T-Abs}$$